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o Ji A HHn: $10,000
o WWP A 37 #-#%: $0.10
* A A iR & 11.81%

—

# A USDT BT KA WWP

K3 G RE &

~ $10.000 * 11.81% — ($10.000 / $0.10) * 100%

— $1.181 = 100,000 4%,
1 8% 8,000 $0.10 $800
2 8% 8,000 $0.15 $1,200
3 8% 8,000 $0.20 $1.600
4 9% 9,000 Pr? Pr?
5 9% 9,000 Pr? Pr?
6 9% 9,000 Pr? Pr?
/ 10% 10,000 Pr? Pr?
3 10% 10,000 Pr? Pr?
9 10% 10,000 Pr? Pr?
10 19% 19,000 PP? PrP
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o WWP A 37 #-#%: $0.10
9] 3R % 11.81%

R
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10 11.81%
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$1,600
P27
P27
P27
P27
P27
P27

P27

$1,981
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2.2.1 E 3 Rh - R H

A2 2200 (20%)
S 49 - $10,000

oy AR B
= $10,000 * 11.81% * 20% = $1,181 * 20%
= $236.20

ey 2% 27 (50%)
A B R4 $10,000

18 69 B3 R g
= $10,000 * 11.81% * 50% = $1,181 * 50%
= $590.50

MR 8G 2 2% k4 (100%)
H I AE R 3 $10,000
AWEH: 25 (50%)

A A 3 B, 49 $5,000

15 by EL IR R J5h

= ($10,000 * 11.81% * 100%) +
($5,000 * 11.81% * (100%-50%))

— ($1,181 * 100%) + ($590.50 * 50%)

= $1,181 + $295.25

= $1,476.25
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25 : - - R
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231 HARR - KAERHT

o 895 % k4 (10% USDT, 20% WWP)
P& i 49 $100,000
WWP A 3% #-#%: $0.10

R AT 89

WWP &, § %%

= ($100,000 / $0.10) * 20%
= 1,000,000 * 20%

A A

® Jgh (USDT):

= $100,000 * 11.81% * 10%
= $11,810 * 10%

pay

= $1.181 = 200,000 4X, if
1 3% 30,000 16,000 $0.10 $1,600
2 3% 30,000 16,000 $0.15 $2,400
3 3% 30,000 16,000 $0.20 $3,200
4 9% 90,000 13,000 Pe? Pe?
5 9% 90,000 18,000 Pe? Pe?
0 9% 90,000 13,000 Pe? Pe?
/ 10% 100,000 20,000 Pe? Pe?
3 10% 100,000 20,000 Pe? Pe?
9 10% 100,000 20,000 Pe? Pe?
10 19% 190,000 38,000 Pe? Pe?
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o RAG5 K 44 (20% USDT, 25% WWP)

o MHAEFR: 74 (10% USDT, 20% WWP)
o [ PALE i 79 $800,000

o WWP A 3h#: $0.10

& A AR IEFRAF 0 WWP
¥ g (USDT): K i B
= ($800,000 * 11.81%) * = ($800,000 / $0.10) *
(20% -10%) (25% - 20%)
= $94. 480 * 10% = 8,000,000 * 5%
= $9 448 = 400,000 4,
1 8% 640,000 32,000 $0.10 $3.200
2 8% 640,000 32,000 $0.15 $4.800
3 8% 640,000 32,000 $0.20 $6,400
4 9% 720,000 36,000 e Pry
5 9% 720,000 36,000 Pr? Pry
§ 9% 720,000 36,000 e de
/ 10% 800,000 40,000 Pr? Pry
3 10% 800,000 40,000 e de
9 10% 800,000 40,000 Pr? Pry
10 19% 1,520,000 288,800 e de
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o ey E . k4e (5% USDT, 5% WWP)
* M FAE R 37: $800,000
o WWP A 3% #H#%: $0.10

& A% A RAF 8 WWP

s (USDT): R B

= $800,000 * 11.81% * 5% = ($800,000 / $0.10) * 5%

= $94.480 * 5% = 8,000,000 * 5%

= $4.724 = 400,000 4X,
1 3% 640,000 32,000 $0.10 $3,200
2 3% 640,000 32,000 $0.15 $4,800
3 3% 640,000 32,000 $0.20 $6,400
o} 9% 720,000 56,000 Por Por
5 9% 720,000 36,000 Por Por
0 9% 720,000 56,000 Por Por
7 10% 300,000 40,000 Por Por
3 10% 300,000 40,000 Por Por
9 10% 300,000 40,000 Por Por
10 19% 1,520,000 238,300 Por Por
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2 8 H-2

. MR8y % R (15% USDT, 15% WWP)
s AR FR BEEA (10% USDT, 10% WWP)

o H) P % 47: $6,000,000
e WWP A3 ##5: $0.10

& A3

® Jh (USDT):

= ($6,000,000 * 11.81%) *

(15% -10%)

= $708.600 * 5%

= $35.430
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5 9%
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3 10%
9 10%
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IR

WWP A, fr & 3
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(15% - 10%)

= 60,000,000 * 5%
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$0.15
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o« WWP A 3H)-4%: $0.10

BIFRFAHWWPK $ 8 =
= ($10,000 / $0.10) * 100%
= 100,000 /X, Fr

h.s.\m

A5 K AFHHWWPR, i &
= ($10,000 / $0.10) * 70%
= 70,000 4X, fr
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H FA % 5 ) 48 % (USDT):
) PR 32 48 48 3% (USDT):

B FA 2 5 (WWP):

57 %% 5 (USDT):

AR 52 5 (WWP):

JRAT 4 4x

AR

) FA % 5 (USDT):

7 BA 2 Jh [B) 4.3 (USDT):
A TA £ 48 45 % (USDT):
A PN £ (WWP):

A % 3% 5 (USDT):

AR 3 (WWP):
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20%
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A5

WA X ST

72K E

11.81%
50%
N/A
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*5%
N/A
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Jadnatr 11.81%

AR

7 FA % 5 (USDT):
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B AR

7 A% 3 (USDT):
) TR 2 5 B 48 % (USDT):

A K & 48 28 % (USDT):

A FA 2 (WWP):
ki 5% g (USDT):

A 3£ i (WWP):

JR AT 4 41
AR
A FA % 5 (USDT):

A PR % 5y B B % (USDT):
) TR £ Jh#8 48 % (USDT):
A N £ (WWP):

AR % % 5 (USDT):

A 3£ g (WWP):
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7 FA % 5 (USDT):
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. AT R 7R
s FBRAMIFHAEIE 30 RALIEELR, F& R 15%
B35 2957, ARt 30 RN RYEGE 29 % .

o LR AVET, WEFLBPREZE SN 6 USDT 4 &,

o KL IPEEE, R AE 2% B9, Z W AR
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